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T AR
= 1 40, 903, 928
JE K IE L
= 1 40, 257, 652
AR L (P KB )
= 1 5,374, 601
HE A R (B0 B
km 278 8,915 2,478, 370
FE A R (B0 %M
km 254. 1 11, 398 2, 896, 231
7N SR (P KB )
= 1 6, 883, 745
TS IR (A0 BT (AR ERR0. 125 mioRm HE
FEERE0%ATH
m 5 1,403 7,015
TEE IR (A0 B (AR ERR0. 125 mioARm HE
EHARE0%LL 1
m 5 1,919 9, 595
TREE T (A0 BB E NI AEO. 125m BA 0. 5m
25K HEREER50%A i
m 5 2,136 10, 680
TEE T (A0 BB RE W AEO. 125m BA 0. 5m
25K HERER50%LL 1
m 5 3,129 15, 645
TEE T (A0 M AEWTmAE0. 125m LA 0. 5m
25K HERER50%LL 1
m 5 4,148 20, 740
BIRER JBR RS ¢ 200mmEL_E ¢ 400mmA
it HEREHE50% A
m 5, 900 1,078 6, 360, 200
BIRER R RS ¢ 200mmEL_E ¢ 400mmA
it HEREER50% A
m 5 1,437 7,185
BIRER B RS ¢ 200mmE_E ¢ 400mmfR
it HERFE50%LL 1
m 5 1,616 8, 080
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HIRER R RS ¢ 200mmEL_E ¢ 400mmA
it HEREE50%LL 1
m 100 2,152 215, 200
HIRER BR RS ¢ 400mmEL_E ¢ 800mmA:
it HERER50% A
m 80 1,956 156, 480
HIRER R RS ¢ 400mmEL_E ¢ 800mmA
it HERER50% A
m 5 2, 606 13, 030
HIRER JBR RS ¢ 400mmEL_E ¢ 800mmA
it HERFE50%LL 1
m 5 2, 566 12, 830
HIRER R RS ¢ 400mmEL_E ¢ 800mmA
it HERFE50%LL 1
m 5 3,418 17, 090
TS IR (A0 B MAERBE
km 5 1,262 6, 310
TS IR (A0 wHE MAEEBE
km 5 1,672 8, 360
HIER B MAERBE
km 5 1,313 6, 565
HIRER wHE eS8
km 5 1,748 8, 740
MEEZET (P KB )
= 1 1, 579, 100
BRIy IR BEZEN) (A)
t 30 33, 496 1, 004, 880
BRIy IRABEZEY) (B)
t 20 28, 711 574, 220
AR L (V5 KB )
= 1 8, 598, 651
HE A R (B0 il
km 754. 4 11, 398 8, 598, 651
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Pk bk i 1T (V6 KB )
1 1,411,025
T T (A R T T I AEO. 125 i AT HE
AR5 0% AT
10 1,403 14, 030
T T (A R T RE0. 126 i A HE
AR5 0% AT
40 1, 860 74, 400
T T () R T AE0. 126 i HE
HARB06L |-
30 2, 544 76, 320
T T () W T FEO. 125 nd LA_E0. 5m
25K HEREER50%A i
5 2,831 14, 155
T T () BT T E RS0, 125t LA_EO. 5m
25K HEREER50%LL 1
5 3,129 15, 645
T T () W T FO. 125 nd LA_E0. 5m
25K HEREER50%LL 1
5 4,148 20, 740
HIER JBR RS ¢ 200mmEL_E ¢ 400mmA
T HERESR50% AT
20 1,078 21, 560
IR "R P ¢ 200mmbh I ¢ 400mmA:
T HERESR50% AT
20 1,437 28, 740
HIRER BRI RS ¢ 200mmEL_E ¢ 400mmA
i HERESE50%LL |
10 1,616 16, 160
IR "R AP ¢ 200mmbh I ¢ 400mmA:
i HEFRESE50%LL |
100 2,152 215, 200
BIRER JBR RS ¢ 400mmEL_E ¢ 800mmA
T HERESR50% AT
5 1,956 9, 780
BIRER R EEE ¢ 400mmLA b ¢ 800mmA
T HERESR50% AT
5 2, 606 13, 030
BIRER JBR RS ¢ 400mmEL_E ¢ 800mmA
it HERFE50%LL 1
5 2, 566 12, 830
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HIRER R RS ¢ 400mmEL_E ¢ 800mmA
it HEREE50%LL 1
m 5 3,418 17, 090
HIRER B 74K ny) B ¢ 150mm
PL_E200mmASTi HERSZR50% AT
m 10 3,633 36, 330
HIRER W 7A/EKT ny) B ¢ 150mm
PL_E200mmASTi HERSZR50% AT
m 60 4,947 296, 820
T T () B MAERBE
km 5 1,262 6,310
T T () wHE MAEEBE
km 5 1,672 8, 360
HIRER B MAERBE
km 5 1,313 6, 565
HIER wHE MAEEBE
km 5 1,748 8, 740
SRR (Hhk) JELFE HERS 1 B25embL - [1100cm
AR B & 100emA
& 5 4, 552 22, 760
SRR (R k) &R HERT 15 0. 3m3A [J50cm
~80cm % X 100cmh F
T 5 35, 363 176, 815
SR KR (k) &R HERT & 0. 3m3LA_L CJ50cm
~80cm % = 100cmh k
T 5 59, 729 298, 645
FEgTE L (V5 KB )
= 1 15, 453, 500
P JEL
m 3, 100 4,985 15, 453, 500
HEAFET (V5 KB )
= 1 957, 030
BESRALSY IRABESED (A)
t 20 33, 496 669, 920
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BRIy IRABEZEY) (B)
t 10 28, 711 287,110
Gan
= 1 646, 276
ARmE T
= 1 646, 276
A EE R (A) B
AH 30 17, 322 519, 660
Rk EE R B (B) B
AH 2 14, 930 29, 860
A EE R (A) %M
AH 2 25,983 51, 966
Rk EE R B (B) %M
AH 2 22, 395 44, 790
B TR
= 1 40, 903, 928
MR E
= 1 6, 470, 630
MR E (FEH L)
= 1 6, 470, 630
Wi
= 1 47, 374, 558
B
= 1 20, 666, 536
T AT
= 1 68, 041, 144
— R
= 1 11, 958, 856
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TS
= 1 80, 000, 000
THEBLF Y %H
= 1 8, 000, 000
TH#EG
= 1 88, 000, 000
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